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Q.3 Select the correct alternative.

1 Neither heredity alone nor mere environment is the potent factor in the development of an individual”

This statement implements the following principle of development.

a) Development Is a continuous process

b) Development proceeds from general to specific responses
¢) Development Is a product of the interaction both heredity and Environment

d)Growth is complex

2. In which developmental stage observation, perception, attention memory, thinking and reasoning
reach their maturity
a) Childhood
b) Later Childhood
¢) Infancy
d) Adolescent

i
|
|
i
|
|

3. According to cognitive development stage giveh by Piaget, the concept of conservation developed m

the following developmental stage
a) Sensorimotor
b) Per operational |
¢) Concrete operational
d) Formal operational stage

4 Sushant 6* std student, learns by observing charts,

a) Audio

b) Visual

¢) Audio-visual R
5.Lying, stealing, obscene talk are characteristic of following behavior problem _-‘";_1
a) Aggressive G
b) Failure
¢) Delinquency
D)Drug addiction

e S+

maps, reading texts. Sushanfs--lmning-gtyle;-is

6. Language, arithmetic, scientific thoughts is the work of
1.Left brain

2. Right brain

3 Both right and left brain
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